Management and Labor:  Collective Bargaining




Name__________________________



Certain conditions in the workplace or Market can improve the bargaining power of either employers or employees.  Below are examples of these conditions.  First decide which group would benefit from each condition, and circle employer or employee.  Then in the space provided explain why.

1. The company’s inventory of unsold products is at an all-time high.  This situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

2. The union announces its strike fund is at an all-time high. The situation would benefit  employers’  /  employees’ bargaining position because _________________________________________________________________

3. The company’s labor costs are higher than average for the industry.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

4. An increasing amount of work in the industry is done by non-union labor.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

5. The union threatens to strike if no settlement is reached by midnight.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

6. The union begins a public advertising campaign describing unfair company practices.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

7. The company is considering moving part of its operations overseas.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

8. The company buys full-page ads explaining its position to the public.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

9. Workers have needed skills that few others have.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________

10. A new company in town has offered higher wages, and many of the workers have left the old company for the new one.  The situation would benefit  employers’  /  employees’  bargaining position because _________________________________________________________________ 

